Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagdo:
7,056 x 10 = 7,305 x 1000 =
7,542 x 100 = 7,677 x 10 =
1,563 x 1000 = 8,085 x 1000 =
3,045 x 10 = 10,986 x 1000 =
6,875 x 10 = 5,674 x 1000 =
4,874 x 10 = 8,687 % 100 =
5,338 x 1000 = 9,254 x 10 =
8, 666 x 1000 = 10,3 x 100 =
1,677 x 100 = 6,966 x 10 =
6,613 x 100 = 1,138 x 1000 =
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R4 B
@ % ' Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagio:
7,056 x 10 = 70.56 7,305 x 1000 = 7305
7,542 x 100 = 754.2 7,677 x10="76.77
1,563 x 1000 = 1563 8,085 x 1000 = 8085
3,045 x 10 = 30.45 10, 986 x 1000 = 10986
6, 875 x 10 = 68.75 5,674 x 1000 = 5674
4,874 x 10 = 48.74 8,687 x 100 = 868.7
5,338 x 1000 = 5338 9,254 x 10 =92.54
8,666 < 1000 = 8666 10,3 x 100 = 1030
1,677 x 100 = 167.7 6,966 x 10 = 69.66
6,613 x 100 = 661.3 1, 138 x 1000 = 1138
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